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. Which one is Reflexive pronoun?
a. Myself b. who

C. each d. he



. To read between the line means

a. to grasp the hidden meaning b. to respect
c.to ready carefully d. to concentrate
. He was taken to task ?
% ?
?
+ .+
+ ) +

. Which one is adjective?
a. special b. Length

c. Miser d. Crime



. Fill in the blank. You should .......... Swimming.

a. Start up b. take up
b. take off d. getup

. Which one the correct sentence?

a. Neither of the roads leads to the railway station

b. Neither roads are led to the railway station

c. Neither of the roads lead to the railway station

d. Neither of the roads are leading to the railway station

?






. I don’t hanker ....... Wealth.

a. After b. for
b. or d. over
?
?
?

. Duchess is feminine of

a. Duke b. dramatist
b. early d. Dutchman
?



. Choose the correct sentence.

a. He has been living here for five months
b. He lives here for five months

c. He is living here for five months

d. He live here for five months

% . %
% . %
. Choose the correct sentence

a. He speaks English like the |English

b. He speaks the English like the English
c. He speaks English like English

d. He speaks English like the English

?



. Salt of life stands for

a. Valuable things
b. saline water

. Which word is not a noun?

a. Defame
b. indemnity
?
?
.CNG ?

b. sorrow of life
d. none of these

b. stimulation
d. articulation



. Which one is correct: he said to me, May you be
happy?

a. He wished that | might be happy
b. He said | might be happy
c. He told that I might be happy
d. He reported that | might be happy
. Article is used based on
a. Pronunciation b. stress
b. spelling d. sound
?
. Fill'in the blank. He had written the book before he-
a. Retired b. will be retired
b. has retired d. had retired
. Correct passive from of | have to do it
a. It has to be done by me b. it is to be done by me
b. let it done by me d. it has to done to
me



. SIM ?
. Subscriber identify Module
. Subscriber Identification Module
. Simple ldentity Module

. Simple Identification Module
. %



. %

?
. %
?
?

. The baby always smiling.

. %
. %



. Choose the correct spelled word.

a. Tsunami b. sunami
c.Tsuname d. tsunamee
?
?
?
+ N+
+ o+
. What is the antonym of hybrid?
a. Purebed b. raised
b. simple d. productive
?
o o
A o

. Fill in the blank. The climate is congenial ..........
Health.

a. To b. of

c.for d. over
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